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60. If Canada entered into some form FEWER JOBS 	 1 	(27%) 
of more open trade agreemenr. 	THE SAME NUMBER 	 2 	(33Z) 
with the United States,  •some 	MORE JOBS 	3 	(40%) 
people have suggested that 	NO OPINION (VOLHNTEERED) 	4 	( 1%) 
some of our industries would 
probably not be able ID 
survive the competition with 
similar American industries, 
and jobs would be lost. 

Others say that even if some 
jobs  were loat.in certain 
industries, about as many  new 
jobs would he created in other 
industries where we c an  out-
compete  th  s Americans. 

Still others say that such an 
agreement would cost some jobs 
but even more new ones would 
be created .  

Thinking about these three 
points of View, do you think 
there would be feWer jobs, the 
same number, or more jobs as, 

 result of this type of agreement? 

61. Recently, there has been same 	VERY LIKELY 	 1 	(21Z) 
talk among American congressional SOMEWHAT LIKELY 	 2 	(45Z) 
and business leaders about 	NOT TOO LIKELY.... ..... 	 (2n) 
increasing  the tariffs and, 	NOT AT ALL LIKELY . .... 	4 	( 6%) 
barriers  place d on Canadian 	NO OPINION (VOLUNTEERE0) 	5 	( 1%) 
goods and services coming into 
the United States, to protect 
American industry and lobs. 

How likely, do yoU feel it is 
that the American goverPmenE.  
might take this type of action 
....very likely, somewhat likely, 
not too likely, or not at all 
“Içély? 
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